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CONCEPT
KNOWLEDGE (10M)

I- Fill in the blanks 6Xx1=6M

1- One houris equal to ...............ccccevveevvenvvnnnn.. minutes.
2- One minute is equalis 1o ........................... seconds.
F- 50000 + 2000 + 300 + 20 + 5 = ceeeriiiiiiiiiiiiiiiiiininnnn.

6- Write 1,00,000 in words :

- Answer the following. 2x2=4M

1. Draw the hands to show the given time —

3:00 am 09:05 am




2- Werite the dates in number —

a-  20July 2009 =

b- 08 June 2007 =

UNDERSTANDING (10marks)

I11-  Answer the following Ix2=2M
a_
Measure the given line segment and Write the value ?
b- Draw a line segment of length5cm ?
4x2=8M

IV-  Answer the following.

| | 1- What is the time in this watch?

Ans-

2-  How long will it take the minute hand to move from —

a_ @ to @ b_ @ to
3- Draw a clock and hands for the given time.
a- 20 minutes after 6 o clock.

4-F1ll in the blanks —

If'1 meter is equal to 100 cm, then —
A- 5 meter’s is equal to
B- 3 meter’s is equal to




ABILITY TO COMPUTE (10marks)

V- Draw the lines to match. 8X1/2=4 M

a- 100-1 100

b-  99+1 10

c- 9X 9 100

d- 1X15 0

e- 100-0 15
f~ 10X 10 99

g- 9Xo 100

h- 1X 10 81

3x2=6M

VI-  Answer the following.

1- Anshu bought apples for Rs 37 and bananas for Rs 21 . How much did she pay

for both apples and bananas?
Ans :

2- One bus carries 48 children. How mamny children can three buses carry?

Ans-

3- Write a number which can be divided by 2, 3, and 5 and comes between 25 and

352
Ans-



PROBLEM SOLVING ABILITY (10marks)

VI1I- Fillin the blanks. 2x1=2M
1. 25 + = 40

2. The sum of 8 and 37 is

VIlI- Solve the following. 3X2=6M

1-What numbers can you make using 3,5, and 7 ¢

Ans:

2- A factory made 270 bulbs on the first day and it made 123 bulbs in second day

How many bulbs did the factory make altogether ?

Ans:

3- The cost of 1 liter petrol is Rs 80. What is the cost of 4 liters of petrol?

Ans:

IX-  Write the place and place value for digit 2 in the given number. 1 x 2 =2M

1. 42388 Place =

Place value =

2. 2809 Place=

Place value=




